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The risks of the worst impacts of climate change can be substantially reduced if greenhouse
gas levels in the atmosphere can be stabilised between 450 and 550ppm CO: equivalent
(CO2e). The current level is 430ppm CO:ze today, and it is
rising at more than 2ppm each year. Stabilisation in this range would require emissions to be
at least 25% below current levels by 2050, and perhaps much more.

Ultimately, stabilisation — at whatever level — requires that annual emissions be brought down
to more than 80% below current levels.

This is a major challenge, but sustained long-term action can achieve it at costs that are low in
comparison to the risks of inaction. Central estimates of the annual costs
of achieving stabilisation between 500 and 550ppm CO:ze are around 1% of global GDP, if we
start to take strong action now.

Costs could be even lower than that if there are major gains in efficiency, or if the strong co-
benefits, for example from reduced air pollution, are measured. Costs will be higher if
innovation in low-carbon technologies is slower than expected, or if policy-makers fail to make
the most of economic instruments that allow emissions to be reduced whenever, wherever and
however it is cheapest to do so.
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(A short explanation)

&

$
&
&
$
$3
.2
4
= $
$
$
&






$

$ )GWDV

»n <






Tram Train —

Opportunities for the
Future

A presentation to APPLRG by
lan Ambrose - Future Railway Development Manager November 2007
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— tram trains in Karlsruhe Market Place
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Department for Transport (Yorkshire and Humber)

Innovative 'Tram-Trains' to be trialed in Yorkshire

An innovative form of public transport called a 'tram-train’ is to be trialled for the first time in the UK on a
growing railway route in Yorkshire.

Five new tram-trains, which can run on both railway tracks and tram lines, will replace conventional trains
currently used on the 37-mile Penistone Line between Huddersfield, Barnsley and Sheffield. Tram-trains are
lighter and greener than conventional trains. They use less fuel and weigh less which reduces wear and
tear on tracks therefore decreasing the need for disruptive maintenance works. Tram-trains have faster
acceleration and deceleration rates so they can also offer passengers better journey times.

The trial, which starts in 2010 and will take two years, will look at the environmental benefits, operating
costs and technical suitability of the tram-trains as well as testing how popular the vehicles are with
passengers on the route. There is also an option for a second phase which would test the vehicles on the
Sheffield Supertram system to see what additional benefits the vehicles can deliver when extended onto
city centre tram lines.

The project is a partnership between the Department for Transport, the train operator Northern Rail and rail
infrastructure owner Network Rail and seeks to establish whether tram-trains similar to those operating
successfully in Europe are suitable for Britain's railway network.

Northern Rail, which is owned by Serco-Ned Railways, will run a competition for manufacturers to build the
tram-trains, which Northern will lease, and Network Rail will spend £15m in track improvements and
alterations to stations as part of the trial, significant funding in the route. DfT will contribute £9m to fund the
operation of the trial and Northern will bring experience from Europe through Ned Railways who operate
tram-trains in The Netherlands.

Transport Secretary, Ruth Kelly, said:

"Tram-trains will bring quicker journeys and offer a greener travel option for passengers in Yorkshire.
"This trial, the first in Britain, could herald the start of a new era in public transport. Passenger feedback is a
vital ingredient in determining the success of the trial and | look forward to hearing what the people of
Yorkshire think about the comfort and reliability of tram-trains."

Heidi Mottram, Managing Director, Northern Rail, said:
"We are very excited to be involved in testing this new form of public transport, which will mean higher
levels of comfort and a faster journey for our customers on the Penistone Line.

"This is a great opportunity for us to develop our network and attract more people to use public transport in

this part of Yorkshire."
lain Coucher, Chief Executive, Network Rail, said:

"This trial gives us a fantastic opportunity to see whether the types of technologies used in Europe can be
adapted for use on our systems. We expect the lighter vehicles will result in less wear on the infrastructure -
extending its lifespan, improve journey times and give the option of running future commuter services closer

into city centres.
"We want to use the trial to get evidence about the practicalities of the tram-trains and assess how
beneficial they will be to the UK.

"The partnership between Network Rail, the DfT and Northern Rail ensures that the needs of passengers,

operators, the infrastructure operator and the local and wider community are all represented.”

The Penistone Line, one of the most successful Community Rail Partnerships, has been chosen for the trial
because it offers the chance to test the tram-trains on a route that in part is for passenger trains only and in
part for passenger and freight trains. A possible phase two of the trial will offer the potential for testing the
tram-trains on the Sheffield Supertram.
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Southport Pier, Fully disabled compliant 2006Endkalatest Tourist Tramway carried in excess
of 20,000 passengers
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: DfT's Public Service Agreement Targets
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Steep decline in oil production brings risk of war and unrest, says new study

- Output peaked in 2006 and will fall 7% a year
- Decline in gas, coal and uranium also predicted

Ashley Seager
Monday October 22, 2007
The Guardian
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